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Introduction
During Ran4#86bis, a WF [1] was agreed to investigate interruptions on active carriers. In this contribution, we provide a proposal on interruptions that can be taken on all active CC’s, E-UTRA and NR, during a BWP switch on one of the NR carriers. 
Discussion
Background
RAN4 has classified BWP switch in to the following four scenarios. 
Scenario 1: The reconfiguration involves changing the center frequency of the BWP without changing its BW. The reconfiguration may or may not involve changing the SCS.
Scenario 2: The reconfiguration involves changing the BW of the BWP without changing its center frequency. The reconfiguration may or may not involve changing the SCS.
Scenario 3: The reconfiguration involves changing both the BW and the center frequency of the BWP. The reconfiguration may or may not involve changing the SCS.
Scenario 4: The reconfiguration involves changing only the SCS, where the center frequency and BW of the BWP remain unchanged.

Scenarios 1-3 involve RF changes on the UE, whereas scenario 4 is purely a baseband change. Since interruptions on other active carriers are only needed when UE changes its RF, there should no need for interruptions for scenario 4. 

Interruptions

From the UE RF perspective, a change in BWP is like cell activation/deactivation. We propose to re-use the interruptions requirements for cell activation/deactivation for BWP switch scenarios 1-3.  The current agreements for interruptions during cell activation/deactivation are as follows. 
For E-UTRA victim, 1 sub-frame for sync 2 sub-frames for async. 
For NR victim, 
	[bookmark: _Hlk514057913]SCS (kHz)
	Sync (slots)
	Async (slots)

	15
	1
	2

	30
	1
	2

	60
	3

	120
	5
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Thus, we end up with the following two proposals

[bookmark: _Hlk506754069]Proposal 1: Interruptions on active carriers needed only for BWP switch under scenarios 1-3. Interruptions on other active carriers are not needed for BWP switch that falls under scenario 4.
Proposal 2: Interruption for active carriers during a BWP switch are  
For E-UTRA victim: 1 sub-frame for sync, 2 sub-frames for async. This is for both inter and intra-band
For NR victim
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Conclusions

Proposal 1: Interruptions on active carriers needed only for BWP switch under scenarios 1-3. Interruptions on other active carriers are not needed for BWP switch that falls under scenario 4.
Proposal 2: Interruption for active carriers during a BWP switch are  
For E-UTRA victim: 1 sub-frame for sync, 2 sub-frames for async. This is for both inter and intra-band
For NR victim
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